EARAROBEEIERT — 2 N— IBISH —F

2016537198 (£) 1EIBR#7H

Blz=s +— 7> v5%3m (B4

(5E) Bin

B e

[~®%] 1 7% 19,000,000 @ ~ 2 7 :7,600,000 @ ~ 3 7 :4,800,000™

4 7% 12,900,000 . 5 7 1,900,000

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. . M. FL—0 :02. ~6-2- . . REER (ER)
1177 TRYAYEAFY 3 56.0T 2(0_2)2 7-6-2-2 36.0 | 104.2 1 ig? FEA
RiFA =TT N BT RYAAT =¥ Tr— L
ERSRSV, # 3 | AR 2:02.2 9-9-7-4 | 35.6|104.1| 2 506 | =ERHM (RR)
2 6| FTL7vT> 56.0 NF) (-g) | EHIEERL
L:Jq 7 hT—lbEY B:RU—LFTVT=— ESliEe
5 st 3 | IR 2:03.5 4-4-4-7 |37.0] 91.8 | 5 500 | FRERE (ER)
3 4 Y/ RFATH 56.0 (8) (-10) KEXAEF
X ThANAN B:44YELRED— i &R
5 4 3 | FIBEX 2:03.6 6-6-4-4 |37.1 90.9 | 3 518 | BESE (ER)
4/8l9| /70O 56.0 (1/2) (<) |ETFRAF-NF (2T H)
X TAANAN B L— K T J—HL T L
S » # 3 | FIEEZ 2:03.7 10-9-10-10 | 36.8 | 89.8 | 9 478 | EHREE (FR)
5/5|5|*T>avhv4E 56.0 (3/4) (g | HAHIE
R:77NTZT B:wFHRTII [pab e
> LS S 43 | SEXH 2:03.8 4-4-7-8 | 37.2| 89.1 | 6 438 | A& (E#)
EH 3| ¥ AIRIZTLIT 5.0 (1/2) o) | B #5TLy K557 -574F
LT v IRy b BiTIIALT A g EvilLy RTp—L
¢ 4 3 | WEEE 2:04.0 2-2-2-3 | 37.7| 87.7 | 4 530 | /I%fRsh (&)
718110/ YANRT b7 =X 56.0 (3/4) Cro) | ) TU=>77 -4
v NnNyarhTr BT-XTU—-> BItHFREEMASHIAT S
R TR . 4 3 | C. bx—J 2:04.1 7-8-7-8 |37.4| 86.5 | 7 490 | BERZERE (R®R)
gl1|1|F/>H w1 56.0 (3/4) (g | WR) g/vo2
LNnN—-ErYrv— B:¥—=3 ST r—L
o R # o3 | BmIEHE 2:04.3 1-1-1-1 | 38.2| 85.4 | 8 438 | BE_(E®)
9|78l E-A¥T K 56.0 (1 1/4) (a) | NIIED
RFq—TANT N BRATA—HT— hEHIS
< .= BERENT 2:04. 24— . . KIS (EXR)
EH 2| ®I M/ TTX s 5.0 (10/42>4 oaa 38,01 843110 ?_784) oA ¥ Lis—2
R:TTRTLHE— B:TFRRNI— hF— NG Y
@ 21 L
£y 48.1-36.1
NaO>24 L | 12.8-11.4-13.0-13.0-11.6-12.3-12.0-11.7-11.9-12.5
@ I—F—@EBIERL
|S=7r= 8,10,2(3,4)9(1,7)-6-5
230—7F— |[8(2,10)(3,4)(9,7)1(5,6)
33—+— | 8(7,10)(2,4,9) (3,1,6)5
43—7— (¥8,7)10(2,9,6)4(3,1)5
0 IR
B Op 7 170 794K 6-7 180M & 6-7 480M &R 4-6-7 1,030M
% B 7 1104 4-7 200 | | B E 6-7 460/ | | EE 7-6-4 2,610M
6 1504 4-6 580M B H 7-6 640M
4 170

ABICOVWTRDTEEERROODE. TR LIV,




